itr6 3486 pi.g2268.t1 SCC

itr6 1611 pi.g78.t1 SCC

itr6 3509 pi.g2459.t1 MCC

941

itré 1846 pi.g2940.t1 MCC

1

itr6 4286 pi.g682.t1 MCC
——itr6 1846 pi.g2939.t1 MCC

oo —————itr6 1846 pi.g2943.t1 MCC

1
100 1 itr6 1115 pi.g2071.t1 itré 1115 pi.g2072.t1 itré 1115 pi.g2069.t1 MCC
Litr6 1115 pi.g2071.t1 itr6 1115 pi.g2072.t1 itr6 1115 pi.g2069.t1.1.57f6f32f MCC

86 I

itr6 199 pil.g2488.t1 MCC
— itr6 199 pil.g2486.t1 MCC

84l

89

74

100 —— itr6 199 pil.g2487.t1 MCC

100 —————————— tr6 1323 pi.g444.t1 MCC
L ir6 1323 pi.g443.t1 MCC

a2 itré 3216 pi.g33.t1 MCC
itr6 2947 pi.g599.t1 MCC

—— itr6 5294 pi.g483.t1 MCC

100 —— itr6 135 pil.g1725.t1 MCC

itré 2691 pi.g1327.t1.3.57f6923e SCC
100 | itr6 2691 pi.g1327.t1.2.57f6923e SCC
98 itré 2691 pi.g1327.t1.1.57f6923e SCC

95

itré 2691 pi.g1327.t1 SCC
— itr6 2691 pi.g1330.t1 SCC
itr6 1407 pi.g1556.t1 SCC

s itr6 1407 pi.g1557.11.1.57f6923c SCC
1001 itr6 1407 pi.g1557.t1 SCC
itr6 2931 pi.g416.t1 SCC

100 itr6 9215 pi.g186.t1 SCC
9 | I itr6 9215 pi.g186.t1.1.57f69242 SCC
86 itr6 794 pil.g2099.t1 SCC

53 99

itr6 76 pilo.g979.t1 SCC
100 | itr6 1988 pi.g853.t1.1.57f6923d SCC
e 1088 pi.g853.t1 SCC

100 L——ir6 1390 pi.g1329.t1 SCC

itr6 4172 pi.g1812.t1 MCC

N itr6 4258 pi.g455.t1 SCC
itr6 1289 pi.g41.tl SCC

ﬂl_— itr6 4892 pi.g454.t1 SCC
itr6 9497 pi.g158.t1 SCC
|— itr6 1966 pi.g566.t1 SCC

itr6 369 pil.g693.t1 SCC

j itr6 5580 pi.g373.t1.1.57f69241 SCC

00 1 itr6 5580 pi.g373.t1 SCC

95— itré 1624 pi.g230.t1 SCC

(2]
=

50

— itr6 4985 pi.g881.t1 SCC

itr6 1686 pi.g909.t1 SCC
-|:|:itr6 1966 pi.g553.t1 itr6 1966 pi.g555.t1 SCC
96— itr6 1966 pi.g556.t1 SCC
itr6 2248 pi.g10.t1.2.57f6923d SCC
% —| itr6 2248 pi.g10.t1.1.57f6923d SCC
1001ty 2248 pi.g10.t1 SCC
itr6 3315 pi.g856.t1 SCC

1itr6 1206 pi.g2993.t1.1.57f6923b SCC

96 100 litr6 1206 pi.g2993.t1 SCC

L itr6 1825 pi.g2704.t1 SCC

itr6 15257 p.g133.t1 SCC

58 |
60

itr6 1059 pi.g1322.t1 SCC

[~ itr6 1489 pi.g2667.t1 SCC
00— itr6 1489 pi.g2666.t1 SCC

54 pmme——— tr6 10806 p.g163.t1 SCC
1

82

itr6 10582 p.g238.t1 SCC
[———— itr6 1521 pi.g3045.t1 SCC

83

100

itr6 10956 p.g35.t1 SCC

itr6 806 pil.g2402.t1 SCC
itr6 14583 p.g82.t1 SCC
53 64 — itr6 3995 pi.g941.t1 SCC

68

66

L itr6 2574 pi.g53.t1 SCC
itr6 974 pil.g126.t1 SCC

—: itr6 11264 p.gZG.tl SCC
s itr6 11264 p.g24.t1 SCC

itr6 1194 pi.g2892.t1 SCC
— itr6 777 pil.g1890.t1 SCC

0.2

e itr6 2512 pi.g2931.t1 SCC
itr6 2512 pi.g2930.t1 SCC

66

% itr6 3985 pi.g908.t1 SCC
L itr6 3985 pi.g907.t1 SCC

100

I itr6 802 pil.g2350.t1 SCC

s itr6 5302 pi.g521.t1 SCC
L 6 4082 pi.g1292.t1 SCC



